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1. Fill in the blal_qks with correct options :
L ' - 1x10=10

(i) has differentiated-between
material and non-material culture. (P.A.
Sorokin / W.F. Ogburn)

(i) Social Change is a - —— process.
- (temporary/ permanent)

(iii} -~ The key concepts in tHeory
are thdse of “challenge and response”.
(Durkheim’s / Toynbee’s)
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(iv)

believes that social and
cultural changes take place due to
spread of culture from one group fo

another. (Diffusionist-/ Inventionist)

Ths term inodéfniZation was introduced
by —————. (M.N.:Srinivas / Daniel
Lerner) :

Low birth }aj:e and low death rate
_-resulting in population -
" (explosion / stabilization)

mdbility refers to mobility

‘which is brought about the changes in

stratification hierarchy itself.

(Structural/Horizontal)

(viii) “Caste in Modern India and other

- (ix)

)

Essays is one of the major works of
. (M.N. Srinivas / Toynbee\

According to ——, conflict is a
permanent feature of ‘society and not

just a temporary event. (Marx/ Simmel),/;

The concept of = generally
refers to the coricentration of people in
town' and cities. (modernlzatlon /
urbamzatlon)
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2.

5.
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Write short notes on :

(i)
(ii)
(i)

(iv)

(v

()

@)

)

(1)

(i)

Progress.

2x5=10
Organic ‘Analogy

Intrageneratid_nm Mobility
Westemizatioﬁ -

Alienation

Urbanization.

Social Change is an on-going process.

Explain the statement. How the process

is resisted ?. 6+6=12
Or

What is ‘Social Change ? Elaborate the
interrelationship between Change and
» 4+8=12

“The history of all hitherto existing
society is the history of class struggle™—

Explain this statement given by Marx.

12

Or
Analyse critically Evolutionary theory
of Social Change. 12

How.demographic transformation leads
to socio-cultural changes ? 12
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(ii)
6. (i)
(i)
7. )
(i)

or
Is Social Change  affected by

. Technological factors ? Explain. 12

Briefly explain the concept/ of
Sanskritization. With the emergence of

. secularization . explain - why

Sanskritization lost its impact..
4+8=12
Or

What are the structural “process of
Social Change ? Explam any one of
them. 12

"Deﬁne Soma1 M(..blhty Write about
- various "types of mobility with suitable

examples. 4+8=12
Or

What are the factors that lead to Social
Mobility ? Explain its importance.
6+6=12
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